
:skraM latoT  001     :etaD euD 81 ht  7102 ,beF  

SLATNEMADNUF GNIMMARGORP  

 

 

    1 # TNEMNGISSA  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

NAMHER RU DIABU AJAWAHK :ROTCURTSNI ESRUOC  

  



:skraM latoT  001     :etaD euD 81 ht  7102 ,beF  

snoitcutsnI  

  snoitseuq eht llA yrotadnam era .strap emos yrrac noitseuq hcaE .  
  eht ypoc tonnac uoy tub srehto htiw tnemngissa eht ssucsid nac uoY  tnemngissa eht oD .edoc

.flesruoy  .yllaudividni tnemngissa eht od ot sah tneduts hcaE  
  daeR noitseuq eht  gnitrats erofeb ylluferac  noitseuq yna . 
  knil noissimbus eht gnisu )selif ++C ruoy gniniatnoc redlof deppiz  elgnis a( ypoc tfos timbuS

 ta elbaliava .eldooM  
 51 ,41 ,31 ,1 noitseuQ fo edoc ruoy fo selif ppc eht timbus ot evah uoY  61 &   eldooM eht no

ni snoitseuq gniniamer eht od nac uoy saerehw  tfosorcim  .drow  
  eht eb dluohs elif ++C ruoy fo emaN .on lloR ruoy eb dluohs redlof deppiz eht fo eman ehT

tseuq .cte ppc.1noitseuq .g.e rebmun noi  
 esruoc eht ni edarg F esuac yam etsaP/ypoC .e.i msiraigalP  .  
  ehT etad eud   fo A tnemngiss  1 #   si 81 ht  7102 ,beF  mp 55 :11 erofeb  

1# noitseuQ  : sksiretsa htiw sepahs gniwollof eht stnirp taht margorp ++C a etirW  .tuoc gnisu  ( )skram 01  

.a   

 

.b   

C 

M O  

T  U  P  

S  I   R  E  

L  R  O   W A  

S  F   O D  

E   I  C  

E 

.c   

  -   -   -   -   -   -   -   - 

-   -   -   -   -   -   -   -   -  

  -   -   -   -   -   -   -   - 
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-   -   -   -   -   -   -   -   -  

  -   -   -   -   -   -   -   - 

.d  *          *  
                       *    *        *         *                      *****  

       ***                      ****              **                        *  
                      *    *    *****                      ***              ***  

               *         *                 **              ****           *******  
                   * *               *********                      *              *****  

 
.e  eman ruoy stnirp taht margorp ++C a etirW  sksireksa htiw  elosnoc eht no  .  

2 # noitseuQ  : yt atad a gnisu seulav gniwollof eht fo hcae tneserper uoy naC  atad hcihw nac uoy fI ?ep
?ton yhw tonnac uoy fI ?yhw dna esoohc uoy dluow epyt  )skram 01(  

.a     4  

.b  5.32  
.c  ’0‘  
.d  E8.7 - 30  
.e  ’678‘  
.f  0563847412  
.g  ’+‘  
.h  ’8‘  

.i  - 9867789874.23  

.j  ’olleh‘  

3 # snoitseuQ : .meht tcerroc dna stnemetats gniwollof eht ni srorre dniF  )skram 6(  
.a  ;0051= noitalupop,gnol  
.b  .51.09=egareva taolf  
.c  ;53= tni  
.d  c b a taolf  
.e  ’B‘ hc rahc  
.f  ;”CBA”=c rahc  

4 # noitseuQ  : .detucexe si stnemetats ++C gniwollof eht fo hcae retfa n fo eulav eht etaluclaC   

)skram 8(  

.a  ;8/22=n tni  

.b  ;7*11/12+8/99 =n tni  
.c  ;2=q,8=p,3=b,4=a elbuod  

a/q=n elbuod - ;b/p  
.d  ;2=q,8=p,3=b,6=a tni  

;b/q+a/p=n elbuod  
.e  ;4.5=q,7.8=p,7.2=b,3.3=a tni  

;a/q+b/p=n elbuod  
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.f  ;3*6%89+4/7+11=n tni  
.g  5*8%13/11=n tni - ;21  
.h  ;8=p elbuod  

;5=q tni  
p*p*0.3+p*q=n tni - ;p*p*p*)3%q(  

5 # noitseuQ  :  stnemetats tnemngissa gniwollof eht fo hcihW ?yhw nialpxe ,dilavni fI ?dilavni era   

)skram 5(  

.a  ;aera=r*41.3  

.b  n/m=c - ;)n+z(  
.c  ;)y+n2.4(z+y*n=z  
.d  ;n/m=taolf  
.e  ;z=5=y  

6 # noitseuQ  : ?snoisserpxe gniwollof eht fo tuptuo eht si tahW  )skram 7(  

.a  ;)4/))4*5(+)4*1((+2/8+1(<<tuoc  

.b  ;)3/)1+1+1(+2/)1+1+1+1((<<tuoc  
.c  <<tuoc ;)6+5/5+5*5(  
.d  ;)5/))7*4(+)4+3(((<<tuoc  
.e  ;)2/21+)2*7*6*3((<<tuoc  
.f  5<<tuoc - 6(%4*3 - ;)1  
.g  ;4+2/)6+2*4*8(<<tuoc  

7 # noitseuQ  :  fo hcaE .selbairav tni eerht era c dna b ,a dna selbairav taolf ruof era z dna y,x,w esoppuS
v erom ro eno sniatnoc stnemetats gniwollof eht  .snoisserpxe citemhtira gnimrof rof selur fo snoitaloi

.selur htiw tnetsisnoc si ti taht os stnemetats eseht etirweR  )skram 5(  

noisserpxe dilavnI  noisserpxE dilaV  
;y*w 0.4=z   

;zy=y   
;4b6=a   

;)b+a(3=c   
;yx+w7=z   

 
8 # noitseuQ  :  gniwollof eht trevnoC .snoisserpxe ++C otni snoisserpxe  )skram 01(  

.a  2x x3+ -4 

.b  z)y+x(  
.c  x2/y3+x -y 
.d  3+x+2x/1  
.e  x 7/y+  
.f  3cb2  
.g  =x

 

3

 

𝑦

 

5

 

−

 

𝑧
 

.h  =z

 

𝑎𝑒𝑟𝑎 √

 

𝑎𝑒𝑟𝑎  
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9 # noitseuQ  : :snoisserpxe citemhtira gniwollof eht etupmoC  )skram 3(  

.a  c(/b+a( - e(/)7+d((/))5 - 3%)73  

.b  c/b+a - e/7+d/5 - 3%73  
.c  )b*b(*a - d+)b*c(  

01 # noitseuQ  : ?snoisserpxe tnemgissa dilavni ro dilav si gniwollof eht fo hcihW  )skram 5(  

.a  ;03=x  

.b  ;3=9=a  
.c  ;x=01  
.d  ;01=y=x  
.e  ;5=%x  

11 # noitseuQ  : eslaf ro eurt ot etaulave snoisserpxe gniwollof eht oD ? )skram 01(  

.a   )4>3( || )4<3(  

.b  4==4 && )3=!3(  
.c  )2<||41( )61==61( && )51=>51(  
.d  )3<5( && )6=<6(  
.e  )3<5( || )6=<6(  
.f  )6=!5(  
.g  6=!5 || 6=<6 && 3<5  
.h  ))6=!5( || )6=<6(( && )3<5(  

.i  )))6=!5( || )6=<6(( && )3<5((!  

.j  )71<81(! && )52>21(!  

21 # noitseuQ  :  eht fo tuptuo eht si tahW ?edoc gniwollof  )skram 8(  

.a  >maertsoi< edulcni#  

;dts ecapseman gnisu  

{)(niam  

53=y ,02=x tni  

;++x + ++x=x  

;x++ + x++=y  

;ldne<<y<<x<<tuoc  

} 

.b  >maertsoi< edulcni#  
;dts ecapseman gnisU  
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{)(niam  
;51=y,01=x tni  

;++x=x  
;y++=y  

;ldne<<y<<” ”<<x<<tuoc  
} 

1 # noitseuQ 3  : t ++C ni margorp a etirW tah  stupni   esrever dna tupni sa rebmun tigid evif a
rebmun eht . (3 )skram  

41 # noitseuQ  :  margorp ++C a etirW taht  tupni ,draobyek hguorht rebmun ddo dna neve na s  
 tI .stluser htob sdda dna 3 htiw ddo dna 5 htiw neve seilpitlum  0001 morf tluser eht stcartbus

ecnereffid eht stnirp yllanif dna . )skram 2(  

:51 # noitseuQ   fo setar tnerruc eht retne ot resu eht tpmorp lliw taht margorp a etirW
 dna etupmoC .%01 fo tnemercni na etar s’meti hcae eviG .tinu rep lortep dna sag ,yticirtcele

.lortep dna sag ,yticirtcele fo tinu rep secirp wen eht yalpsid  (3 )skram  
 

1 # noitseuQ 6:  fI.84 si ycaretil latot fo egatnecrep ehT .25 si nem fo egatnecrep eht ,nwot a nI
f ot margorp a etirw ;noitalupop latot eht fo 53 si nem etaretil fo egatnecrep latot  latot eht dni

.000,08 si nwot fo noitalupop eht fi nemow dna nem etaretilli fo rebmun  )skram 5(  
 

   ------------------------------ dnE ehT - ---- --------------------------  

   ;ytirepsorp sgnirb kroW draH  

   ytrevop sgnirb dnuora gniyalP  

 

   si krow drah fI ,nopaew ruoy  

   ruoy eb lliw sseccuS evals  

 

selpmaxe gniod yb nrael ,yllausu si gnimmargorP  

                            

 


